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Σάββατο 9 Οκτωβρίου 2021 

ΘΕΜΑ Α 

Α1. (Σ1)Β, (Σ2)Α, (Σ3)Β, (Σ4)Α 

Α2. Θεωρία σχολικού βιβλίου σελίδα 31. 

ΘΕΜΑ Β 

Β1.  

൜
2𝑥 − 3𝑦 = −1

𝑥 + 𝑦 = 2
⇔ ൝

2𝑥 − 3𝑦 = −1
 +                        

−2𝑥 − 2𝑦 = −4
 

                                                                                                  -5y= -5 

                                                                                                  ⇔ y=1 

Οπότε:  

൜
𝑥 + 𝑦 = 2

𝑦 = 1
⇔ ൜

𝑥 = 1
𝑦 = 1

 

 

Β2. ൜ 3(𝑥 + 𝑦 − 5) − 2(𝑦 − 𝑥) = 0

3(𝑥 − 𝑦 − 7) − 2(2 − 𝑥 − 𝑦) = 0
⇔ ⋯ ൝

5𝑥 + 𝑦 = 15
+                   
5𝑥 − 𝑦 = 25

 

                                                                                 10x=40 

                                                                               ⇔ x=4 

Οπότε:  

ቄ
5𝑥 + 𝑦 = 15

𝑥 = 4
⇔ ቄ

𝑦 = −5
𝑥 = 4

 

 

 

 

 

(−2)



 

ΘΕΜΑ Γ 

Γ1. Θέτουμε: x3=z, y3=ω. Τότε: 

൝
3𝑧 − 5𝜔 = −2

𝑧 + 2𝜔 = 3
⇔ ൝

3𝑧 − 5𝜔 = −2
+                         

−3𝑧 − 6𝜔 = −9
 

                                                                                                -11ω= -11 ⇔ω=1 

Οπότε: 

൜
𝑧 + 2𝜔 = 3

𝜔 = 1
⇔ ൜

𝑧 = 1
𝜔 = 1

⇔ ൜
𝑥ଷ = 1
𝑦ଷ = 1

⇔ ൜
𝑥 = 1
𝑦 = 1

 

Γ2.  

൞
𝑦 = 1 − 𝑥

2𝑥ଶ + (1 − 𝑥)ଶ = 6
⇔ ൞

𝑦 = 1 − 𝑥

3𝑥ଶ − 2𝑥 − 5 = 0
⇔ ൞

𝑦 = 2
𝑥 = −1

  ή ൞
𝑦 = −

2

3

𝑥 =
5

3

 

 

 

ΘΕΜΑ Δ 

Δ1.  

ቐ

y = 2 − 2x + z

4𝑥 − (2 − 2𝑥 + 𝑧) − 3𝑧 = −2

2𝑥 + 2(2 − 2𝑥 + 𝑧) − 𝑧 = 9
⇔ ቐ

𝑦 = 2 − 2𝑥 + 𝑧  (I)

6𝑥 − 4𝑧 = 0  (II)
−2𝑥 + 𝑧 = 5  (III)

 

Από 

൝
6𝑥 − 4𝑧 = 0
−2𝑥 + 𝑧 = 5

⇔ ൝
6𝑥 − 4𝑧 = 0
+                      

−6𝑥 + 3𝑧 = 15
 

                      -z=15 ή z= -15 

Οπότε: 

ቄ
𝑧 = −15

−2𝑥 + 𝑧 = 5
⇔ ቄ

𝑧 = −15
𝑥 = −10

 

Από (Ι): y=2-2 (10)-15 άρα y=7 

 

 

 

 

(−3)

(II), (III) (−3) 



Δ2. Έστω x, y οι ζητούμενοι αριθμοί με x>y.  

Τότε: 

൜
x + y = 26
x = 4y + 1

⇔           ൜𝑥 + 𝑦 = 26
𝑥 − 4𝑦 = 1

⇔ ൝
𝑥 + 𝑦 = 26

+                     
−𝑥 + 4𝑦 = −1

 

      5y=25y=5 

Οπότε: 

൜
𝑦 = 5

𝑥 + 𝑦 = 26
⇔ ቄ

𝑦 = 5
𝑥 = 21

 

 

(−1)


